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20198 &= =& 3 3] LB SAA MM
AN BAA D
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SA-EHB - BAEH) - NRAY - BES 0] &b 2 p/E-F HIDE2
B2 A0t 2,417,346 2,417,417 AT
= 938,918 938,918 0
J| 4,206 4,206 0
= 21,787 21,787 0
Al 1,452,435 1,452,506 AT
SEARAMAME XA 559,904 566,620 A6,716
= 45,356 45,356 0
J| 4,206 4,206 0
< 21,787 21,787 0
Al 488,555 495,271 26,716
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01 A& HI 45,184 50,700 A5,516
OAMZoler 2
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oz ord&el 2t 122,022 122,022 0
= 33,000 33,000 0
J| 4,206 4,206 0
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A= 2LEE Y XNIAY 7,500 7,500 0
=) 2,250 2,250 0
Al 5,250 5,250 0
201 Lt 4,250 3,560 690
=) 1,275 1,068 207
Al 2,975 2,492 483
01 AP 2teltl 4,250 3,560 690
o=zg=¢ 3,250 2,560 690
—%4S2HE Hgns Mg
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< 975 768 207
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202 04l 0 640 A 640
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Al 0 448 A 448
01 = LH 4 Hi 0 640 A 640
OASLE YA FTHALI(HZ) 0 0 640 A 640
=) 0 192 A 192
Al 0 448 AN 448
307 21201 A 3,250 3,300 A50
=) 975 990 A15
Al 2,275 2,310 A 35
01 22724l 3,250 3,300 A50
OAs Y (LA 28)
2 & 3,250,000 * 14! 3,250 3,300 A50
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